
 
tyaf; fy;tp mYtyfk; 

tTdpah tlf;F 

 ,uz;lhk; jtizg; guPl;ir - 𝟐𝟎𝟐𝟐             
   juk; 6 fzpjk;   Neuk; - 2 kzpj;jpahyak;              

1. RUf;Ff. 795 +  673 =  … … … 

 

2. jug;gl;Ls;s cUtpy; epow;wg;gl;l gFjpia KO cUtpd; 

gpd;dkhfj; jUf. 

 

3. 14 ∶  10 vDk; Neuj;ij 12 kzpj;jpahy fbfhu Neuj;jpy; jUf. 

 

4. 52300484 vd;w vz;iz 

i. epak Kiwapy; vOJf. 

 

ii. nrhw;fspy; vOJf. 

 

5. 𝑎, 𝑏 vd;gd vt;tif Nfhzq;fs; vdf; Fwpg;gpLf. 

 

   ……………….. 

6. 5 MtJ Kf;Nfhz vz;izf; fhz;f. 

 

7. xU khztdpd; fzpjghlg; Gs;spia fpl;ba gj;jpw;F kl;le;jl;baNghJ 80 

fpilj;jJ vdpd; mk;khztd; ngw;wpUf;ff; $ba 

i. cau; Gs;sp _______________ 

ii. Fiwe;j Gs;sp _______________ 

  Mfpatw;iw vOJf. 

8. ntw;Wf; $l;il epug;Gf:   75 x 1 000 = 

 

9. nghUj;jkhd FwpaPl;il fPwpl;l ,lj;jpy; ,Lf.  (<, >) 

7

10
___ 

2

5
  

10. 40 kzpj;jpahyj;ij ehs;> kzpj;jpahyj;jpy; jUf. 

 

11. ntw;wplj;ij epug;Gf: 6.7 +  9.48  = 

     

     

 

…………………………

…… 

𝑏 

𝑎 
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12. jug;gl;l tiyAUit cgNahfpj;J cUthf;ff;$ba 

i. jpz;kj;jpd; ngaiu vOJf. 

 

ii. ,j;jpz;kj;jpw;F vj;jid cr;rpfs; cz;L. 

 

13. fPNo cs;s ml;ltiziag; G+uzg;gLj;Jf. 

 

14. jug;gl;Ls;s cUtpy; fhzg;gLfpd;w js cUf;fspd; ngaiuf; 

Fwpg;gpLf. 

𝐴 ………………………….. 

 

𝐵 ………………………….. 

 

15. jug;gl;Ls;s cUtpd; Rw;wsitf; fhz;f. 

 

 

16. 5, −2, 0, 2, −4 Mfpa vz;fis VWtupirapy; vOJf.  

 

17. RUf;Ff:  714 ÷  21 = ……………….. 

 

18. 346___ vd;w ehd;fpyf;f vz; MdJ 2, 5 My; kPjpapd;wp tFgLkhapd; fPwp;l;l 

,lj;jpy; tuNtz;ba ,yf;fj;ij vOJf. 

 

19. RUf;Ff:        

   ehs; kzp    epkplk; 

              6                 10                  45 

              4                 15                  35 

 

20. 6 m  23 cm  I nrd;upkPw;wupy; jUf. 

                

msf;f Ntz;ba 

ePupd; msT 

msf;fg; gad;gLj;Jk;         

rhbapd; msT 

msf;f Ntz;ba jlitfspd; 

vz;zpf;if 

2 l 250 ml  

 500 ml 8 

𝐵 

𝐴 

1 m 50 cm 

75 cm 

+ 
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gFjp 𝐈𝐈 

(vitNaDk; 5 tpdhf;fSf;F ,t;tpdhj;jhspNyNa tpil jUf.) 

1.  

i. 7, 9, 3, 4 Mfpa ,yf;fq;fisg; gad;gLj;jp vOjf;$ba kpfg; ngupa vz;iz 

vOJf 

 

ii. 6 043 vd;w vz;zpd; ,yf;fk; 6 ,d; 

a. ,lg;ngWkhdk; 

 

b. ngWkhdk; 

 
 

       Mfpatw;iw vOJf. 

iii. “VO gpy;ypad; Ke;E}w;W ehw;gj;ije;J kpy;ypad; 

vOE}w;Wnjhz;Z}w;nwl;lhapuj;J Ie;E}w;W Ie;J” vDk; vz;iz ,yf;fj;jpy; 

jUf. 

 

iv. xU njhopw;rhiyapy; Kjy; ehspy; 4 978 rg;ghj;Jf;fSk; ,uz;lhk; ehspy; 

3 065 rg;ghj;Jf;fSk; cw;gj;jp nra;ag;gl;ld. ,uz;L ehl;fSk; cw;gj;jp 

nra;ag;gl;l rg;ghj;Jf;fspd; vz;zpf;ifiaf; fhz;f. 

 
 

 

v. Nkhdh filnahd;wpy; &.3 457 ngWkjpahd nghUis thq;Ffpd;whu;. mtu; 

&.5 000 I filf;fhuuplk; nfhLj;jhu;. mtUf;F fpilf;Fk; kPjpg; gzj;ijf; 

fhz;f. 

 

 

vi. xU nghjpapy; 35 ney;ypf;fdpfs; cs;sd. mt;thwhd 15 nghjpfspy; cs;s 

ney;ypf;fdpfspd; vz;zpf;ifiaf; fhz;f. 

 

 

2.  

i. gpd;tUk; gpd;dq;fs; xt;nthd;wpw;Fk; rktYg;gpd;dk; xt;nthd;W vOJf.. 

a. 
3

5
  b. 

16

20
  

 

2 × 6 = 12    Gs;spfs; 

1 +   1 = 2   Gs;spfs; 
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ii. RUf;Ff:    

a. 
3

7
  +   

1

7
=   

 

b. 
7

11
  +    

4

11
=  

c. 
3

8
  +    

1

4
  d. 

11

15
 −    

2

3
 

 

 

 

 

 

iii. fPNo jug;gl;l ml;ltiziag; G+uzg;gLj;Jf. 

     

3.  

i. jug;gl;Ls;s vz;Nfhyq;fspy; mLj;JtUk; ,U vz;fisAk; vOJf. 

a. 21, 28, 35, 42, ____ , ____ 

b. 1 , 4, 9, 16, ____ , ____ 

ii. xd;gjhtJ rJu vz;iz vOJf. 

 

 

iii. 15 MdJ vj;jidahtJ Kf;Nfhz vz; MFk;. 

 
 

iv. gj;jpYk; Fiwe;j Nru;j;jp vz;fs; midj;ijAk; vOJf. 

 

 

v. gpd;tUk; $w;Wf;fs; rupahapd; “ ” vdTk; gpioahapd; “ ” vdTk; 

milahskpLf. 

a. ,ul;il vz;zhfTk; Kjd;ik vz;zhfTk; tuf;$ba vz; 2 kl;Lk; 

MFk;. (   ) 

b. ,U mLj;Js;s Kf;Nfhz vz;fis $l;Lk;NghJ fpilf;Fk; vz; rJu 

vz;zhFk;. (   ) 

c. ,ul;il vz;izAk; xw;iw vz;izAk; $l;Lk; NghJ ,ul;ilvz; 

ngwg;gLk;. (   ) 

vz; ,yf;fk; 
,yf;fk; mike;Js;s 

,lg;ngWkhdk; 

,yf;fj;jpdhy; 

tifFwpf;fg;gLk; ngWkhdk; 

4.36 3   

479.51 1   

1 +   1 +  2 + 2 = 6   Gs;spfs; 

1 +   1 +  1 + 1 = 4   Gs;spfs; 

1 +   1 = 2   Gs;spfs; 

2 +   2 + 3 + 3 = 10 ;  Gs;spfs; 
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4.  

i. gpd;tUk; vz;fspd; fhuzpfisf; fhz;f. 

a. 32 b. 72 

 

 

 

ii. 4 ,dJk; 3 ,dJk; klq;fhf mikAk; 4 vz;fisj; jUf. 

 

 

iii. 1 njhlf;fk; 150 tiuAs;s vz;fSs; 

a. kpfg;ngupa 9 ,d; klq;F ahJ? 

 

b. vj;jid 9 ,d; klq;Ffs; cs;sd. 

 
 

iv. tPL xd;wpw;F xU ehspy; 4 kg muprp Njitg;gLfpd;wJ.  

a. xU thuj;jpw;Fj; Njitahd muprpapd; msitf; fhz;f. 

 

b. xU khjj;jpw;Fj; Njitahd muprpapd; msitf; fhz;f. 

 
 

 

5.  

i. ntw;wplq;fis epug;Gf. 

a. 25 mm =  ____cm  ____ mm b. 350 cm =  ____m  ____ cm 

c. 3 500 m =  ____km d. 4 050 m =  ____km ____m 

ii. tpUe;Jgrhuk; xd;wpy; gj;Jg;NgUf;F 4 l gourk; NghJkhdjhFk;. 40 NgUf;F 

Njitahd gourj;jpd; msitf; fhz;f. 

 

 

iii. RUf;Ff : 

a.       km                      m b. 25 cm –  8 cm  9 mm 

             5  250 

           +  3  425   

 

 

2 + 2 + 2 +  1 + 2 + 1 + 2 = 12 ; Gs;spfs; 
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iv. xU Nkhl;lhu; irf;fps; ngw;Nwhy; jhq;fpapy; 15 𝑙 800 ml ngw;Nwhy; cs;sJ. 

gazj;jpd; NghJ 5 𝑙 450 ml ngw;Nwhy; nrythfpaJ vdpd; vQ;rpa ngw;Nwhypd; 

msitf; fhz;f. 

 

 

6.  

i.  

a. jug;gl;l jpz;kj;jpd; ngaiu vOJf. 

 

b. ,j;jpz;kj;jpd; Kfq;fs;> cr;rpfs;> tpspk;Gfspd; 

vz;zpf;ifia fhz;f. 

 

 

c. ,j;jpz;kj;jpd; Kfk; xd;wpd; tbtj;ij vOJf. 

 

       

ii. ,ilntsp epug;Gf 

 

 

 

        

 

 

 

a. Nfhapypw;F tlf;F jpirapy; ……………….. fhzg;gLfpd;wJ. 

b. tPl;bw;F ………………….. jpirapy; Nfhapy;> ……………. fhzg;gLfpd;wd. 

c. tpisahl;L ikjhdj;jpw;F njd;fpof;Fj; jpirapy; ……………………> 

…………………. Mfpad fhzg;gLfpd;wd. 

d. itj;jparhiyf;F njd;Nkw;F jpirapy; …………………. fhzg;gLfpwJ. 

e. ntspr;r tPl;bypUe;J ghu;f;Fk; xUtUf;F fpof;F jpirapy; ……………> 

……………. ck; ………………. jpirapy; Nfhapy;> kuk; MfpadTk; 

fhzg;gLfpd;wd. 

4 +   2 + 4 + 2 = 12 ;  Gs;spfs; 

3 +  9 = 12 ;  Gs;spfs; 

A 

tpisahl;L ikjhdk; ; ghlrhiy  kuk; 

tPL Nfhapy; Gifapuj epiyak; 

ntspr;r tPL   itj;jparhiy nghyp]; epiyak; 

t 


